Standard Form Without a Calculator

(a) (b) (c) (d)
Calculate Calculate Calculate Calculate
(4 x 108%) x (2 x 10°Y) (1.25 x 10%°) x (6 x 1037) (4 x 107%) x (7 x 10°9) 9 x 10143
3 x 1033

(e) () (9) (h)
Calculate Calculate Calculate Calculate

(9.6 X 10187) = (6 x 103?) 2.4 x 10105 \/m (8 x 10129) + (1 x 10%29)
8 x 1023

(i) ¢)) (k) )

Calculate Calculate Calculate Calculate

(7.5 x 10193) — (2.1 x 1019%)

(4 x 10109) + (3 x 10101)

(6.2 x 1088) — (9 x 1087)

(1 x 10%12) — (8 x 10119)

(m) (n) (o) (p)
Calculate Calculate Calculate Calculate
(4 % 10%°) 4 (8 x 10%%) (3 x10'98) — (3 x 10'7) (6 x 10°9)2 + 4.5 x 1013
1.2 x 1040 9 x 1072

(5 x 10159) — (1 x 10149)
4 x 1023




